OlilieC

AUTO ACCESSORIES.CO

VW CADDY 2003-
SOLID ROOIF BARS

MONTAJ TALIMATI  FITTING INSTRUCTIONS MONTAGEANLEITUNG  RIDELLES DE TOIT

*Roof Rack carrying capacity is maximum 75 kg.

*Port bagaj tasima kapasitesi 75 kg. olup;
yukleme yapmadan 6nce aracin tavan tasima Please check your vehicle roof maximum carrying
kapasitesinin dikkate alinmasi gerekir. capacity from your car manufacturer
before load roof rack.

* Die Tragfahigkeit des Dachtrigers betrdgt maximal 75 kg.  *La capacité de chargement maximale est de 75 Kg.
Nous vous prions de vérifier la capacité de

Vor dem Beladen, bitte Gberprifen Sie die maximale
Tragfahigkeit lhres Fahrzeugdachs bei chargement du toit de votre véhicule avant
Ihrem Autohersteller. de charger les barres de toit.

@ MD7520933L

30 Min.



PARCA LISTESI
Part List /Teileliste / Lista de accesorios

®

R

©

f

®

L

On Ayak / Front Foot

1x

On Ayak Kapak / Front Foot Cover

Arka Ayak / Rear Foot

Arka Ayak Kapak / Rear Foot Cover

T

\

(=) |z

L

R

L R
1x On Ayak / Front Foot 1x On Ayak Kapak / Front Foot Cover 1x Arka Ayak / Rear Foot 1x | Arka Ayak Kapak / Rear Foot Cover
O = | == ¥ (O) ©
—0 (—]

Profil / Profile

Profil / Profile

M8 Pul / M8 Nut

(o) |»

Sizdirmazlik Elemani

Orta Braket Eva / Middle

2

13-14mm

= e e 2 Arka / Rear M8x30 8x Impermeable Rubber 4% Bracket Eva / Mittlere Klammer Eva
i 4% | vigdle Brackor mtiore Kiammer | 1% 6 mm
Max.
Montaj icin Gerekli Aletler 75 kg
Required Tools =
Max.
165 Ibs
80km/ph  130km/h
50Mph  80Mph
[ 7




1) 1- 2 - 3 ve 4 Numaral tapalari s6kiip sizdirmazlhk
elemanlarini soktiigiiniiz tapalarin yerlerine yapistiriniz.

1) Please take the plugs ( Number 1-2-3-4) out and stick
the seals to their empty places.

1) Entnehmen Sie die 1 bis 4 Nr. Kappen vom
Dachfahrzeug und legen Sie die wasserundurchlassige
Dichtung rauf.

\
2) Port Bagajin ayaklari tapalarin iizerine gelecek sekilde yerlestiriniz.

2) Place the roof rails feet on the plugs as shown in the picture.
2) Platzieren Sie den Dachrelinge FiifSe auf die Stépsel, sowie in der Abbildung angegeben.

®



n Orta-Middle n Orta-Middle RM Arka-Rear n On-Front

Max.10 Nm Max.10 Nm Max.10 Nm Max.10 Nm
85.5 in-Ibf 85.5 in-Ibf 85.5 in-Ibf 85.5 in-Ibf
7.3 ft-Ibf 7.3 ft-Ibf 7.3 ft-Ibf 7.3 ft-Ibf

3) Port Bagaji arag lizerine montaj yerlerinden sabitleyip 1,2,3,4 nolu civatalar sira
ile esit sekilde maximum 10 Nm olarak arag lizerinde merkezleyerek sikiniz.

3) Fix the roof rail at the mounting points on top of the vehicle then start turning the
screw bolts in the following order ( Bolt #1, Bolt #2 , Bolt #3, Bolt #4 ) and turn the bolts
by putting equal force, maximum 10 Nm.

3) Positionieren Sie die Dachreling an den Befestigungspunkten oben auf dem
Fahrzeugdach und beginnen Sie dann, die Schraubenbolzen in der folgenden Reihenfolge
zu drehen ( Schraube #1, Schraube #2, Schraube #3, Bolt #4 ) und drehen Sie die
Schrauben mit gleicher Kraft, die maximale Kraft sollte 10 . betragen Nm.

ORTA AYAK / MIDDLE FEET / MITTLERE FUBE ABDECKUNG ON - ARKA AYAK / FRONT - REAR FEET /VORNE UND HINTERE FURE ABDECKUNG

A7

4) Port Bagajin kapaklarini kapatip montaj islemini tamamlayiniz.
4) Place the covers on the roof rail feet to complete the assembly.

4) Positionieren Sie die Abdeckungen wieder auf die Dachreling FiifSe um die
Montage abzuschliefSen.

@




